20214 03H 05H
(Gage) s Rt T (EFT ) i XRE=ERT =T F 1267411
A )R At

T 7 ENFE 5 ST A1 5 2 4 2 HOMUEIC L0 . RO LB Y WE LET,

20214F 03H 05H  ( & WA K= WER )
HIEHE 0.1 b

A= GRS U wvi L] AL RGPS iG]

oo | it £ e wm W i ST

i Kg 100. 0 Ke Kg

. 5 " ek (1)
B4 EEREs | G B — e o 5 &

W OIEH Mo h 130 Kg 1,393 1,188

¥ H U Kg

= X Kg

T H DU Kg

»noo B Kg

= A F Kg

= = R 5% Kg

FIEESA Kg

AN A Kg

Wb L Kg

5 ) Kg

7= z Kg

m X T Kg

wom s E Kg

moa o Kg

MREALTES Kg

Box Kg

T & U 5

3 0z Kg

TSAE 58

AN 5




20214F 03H 05H
Gase) NIRTHEEERA=E #T P M7 BT = T F 126401
S ST e

UG 7 7 B TS 5 R BI5E 5 2 SR/ 2 HOBUEIZ LY, RO LBV HMEL LT,

20214F 03H 05H  ( & WA K= WER )
HIEH R 12.8 b

FEEIG D H O wveE ] AL A FRxEGI

| it fa A mo W e T

i 2,700.0 Kg 1,900.0 Kg 8,200.0 Kg

. = L Ezesks (1)
B4 EmnEs | 9k B — e = 5 &

W DL H Kg

F b U oM 160 Kg 4, 536 2,916 702

X X T+ ¥ 270 Kg 2, 484 1, 620 279

ERALARYE S N 40 Kg 7, 560 1,242 864

noo B T+ ¥ 20 Kg 864 756

= A F Kg

X F b Kg

FIEE <A Kg

AN ST T 3 40 Kg 3, 456 1,188 486

Wb L ST 12 100 Kg 3, 456 2, 160 54

BN U) SN 440 Kg 1,512 1,458 864

7= z b v & 170 Kg 1,944 1, 890 1, 620

mwo ST b W E 260 Kg 1,048 756 734

mom s N — 390 Kg 972 502 324

ST SRTAN/N N A 130 Kg 5, 940 756 648
MREALTES T T AN 40 Kg 15, 984 1,674 1,458

Box Kg

B+ & U EI 3 20 58 335

+ oz i E 30 Kg 1,728 1,026 200

TSAE 58

R T8 AN 480 B 1,183 77 17




WAEE (03H 06H%Y )

20214 03H 05H

(sise) TS kAt P FERT 1M =5 AT = T 1 126 7401
A%k IR FLFERR NS A
JIIRF T H G HIFE TG RPE S 25F 1 THOBEICL Y, WO LBV HEL £,
BV 5RO HE
i £ H5E ¥ EE & TR PEH
» o b
AN g 0
AFLDF1E
ih % E7e T EE & EE e
N 7 0
FEXRFEG | D J5 ik
ih £ ENFE T EE & EE e
»oiE b
¥ H U 200 fu I
o 1 100 + 15
SR VAV 100 H & W
noo B
FEBREKRBER) & D 3, 900
R ST 50 T T AL
mEm s E 50 I o —
T 5 DU 50 AN =
WmEALTED 50 T T AA
R IKEEM) & DL 3, 300
WX 200 IV = —
T Wz 50 i W E
EESE 50 b HE
BT IAE
IR EEM Z DAt 10, 800
/N Fia 18, 900
i it 18, 900




